I 6T SR £ 100 £ ﬁ—l?iﬂﬁd:i)ﬁ@i%éfﬁfﬁ%
(3%

B ETEBR (REHER) WA RA AEBRA
AR IARIA R BREESRELAE SRR FulM  2SELARABRHEEA BARTHY

1. Define each of the following terms with an example. (40 points)
natural class

recursive rule

adjunction

derivational morpheme

agrammatism

argot

Great Vowel Shift

spoonerism
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2. In what respect(s) are implicatures and entailments similar and different?
Ilustrate your answer with concrete examples. (15 points)

3. It is well-known that the sound inventory of Mandarin Chinese is quite different
from that of English. Given that, please find two sounds (vowels or consonants)
that are attested in English but not in Chinese. Moreover, based on the two
sounds, give concrete examples which Chinese L2 learners of English often
pronounce incorrectly and provide some possible reason(s) for the emergence of
such errors. (15 points)

4. Provide three arguments for the existence of Universal Grammar in second
language acquisition. (15 points)

[9,]

Explain the following statement with proper English examples and discuss the
possible forces triggering semantic change. (15 points)

“Semantic change is not a change in meaning per se, but the addition of
a meaning to the semantic system or the loss of a meaning from the
system while the form remains constant.” (Wilkins, 1996)



